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I & R = RETHE | HiT

EEEYIMT T
As t=5cm 1.526.26 1530 m

AsEKEM T
L—4.8km 4
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2.43 243
AR T -
As t=10cmL{F 0.20BH 477.68 480| n

® AL 5
As DT:4t 0.20BH L=6.1km 23.88 24| m

1z =l
MeiEEl  0.2BH 530.70 530| ni

BRLEFEEL)
e HWIEE]  0.2BH 352.15 350 i

HEREL&REL)
- HWIES]  0.2BH 1.91 ol
7+ A5 (Rt +) :
DT:4t L=7.5km 141.08 141
TRRBRET )
RC-40 t=19cm 47768 478
FRERET )
RM-40 t=15cm 47768 478

x B T
B4AZRIEAs t=5cm 477.68 478 m
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) @ ® @ ® ® @
VP - DIP| DIP DIP DIP DIP DIP |VP-DIP| DIP
I & B R Hf | 75 | 4100 | ¢100 | #4150 | ¢150 | 4150 | ¢ 100 | @150 E
B - B B 44 Fi:4 | Rk [ BE G
DP900 | DP900 | DP1200| DP900 [ DP1200 | DP1200| DP1200| DP1200
AR UM As |[t= 5cm
m 5.62| 747.62 2.60| 12.50 4.52 5.40| 730.00[ 18.00| 1,526.26
SRS iR AR R As [t= 10cmLUF ;
m 1.69| 242.98 0.85 4.38 1.58 1.80[ 219.00 5.40 477.68
o ) As [DT-4t L=6.1km :
m 0.08] 12.15 0.04 0.22 0.08 0.09| 10.95 0.27 23.88
7 H +# 4% 0.20BH :
m 1.58| 235.69 1.07 4.46 4.46 2.52| 274.00 6.92 530.70
BERLFEL) TR [#45 0.20BH .
m 0.99| 137.07 0.71 2.90 1.52 203.67 5.29 352.15
BRL(BRL) T ®) #H 0.20BH .
m 1.91 1.91
LA (FEEL) +# [DT-4t L=7.5km .
m 0.48] 83.39 0.28 2.90 2.77 2.52|  47.70 1.04 141.08
TREEET F:F |RC-40 t=19cm .
m 1.69| 242.98 0.85 4.38 1.58 1.80| 219.00 5.40 477.68
FrERET FrA |[RM-40 t=15cm .
m 1.69| 242.98 0.85 4.38 1.58 1.80| 219.00 5.40 477.68
= B T As [BEZEHIAs t=5cm -
m 1.69| 242.98 0.85 4.38 1.58 1.80| 219.00 5.40 477.68
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060 x 281 = 1.69]
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O HEIEH
06 x 094 x 281 = 1.58]
O #BRL&EEL)
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0.65 x 097 x 373.81 =] 235.69]
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O #EERRARE(t=5cm)
065 x 130 =] 0.85]
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0.85 x 0.05 =] 0.04]
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0.65 x 1.27 x  1.30 =] 1.07]
O #RLEFEL)
(06 x 093 — 012 x 012 x 3.14 x 025 )x 1.30 =] 0.71]
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O HiiEy
070 x 1.02 x 6.25 =] 4.46]
O BRLEEL)
(070 x 068 — 012 x 012 x 314 x 025 )x 6.25 [=] 2.9]
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TTHEEG

DIP ¢ 150mm#n & 2.26 m
DP=1200
BEZERAs
700 P
Y 1 - . Ak
[ 6:
t RM40-0 o
: &
| K
} RC40-0 Sy
ﬁ - XK
Jd oo !\ @ — b
& g e T
— — |
| F4E+ o
1 [ee]
| D
i
|
‘ by
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0.70 x 1.02 x 6.25 =] 7.45]
O #RLEFEL)
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150 x 1.20 =] 1.80] i
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180 x 0.05 = | 0.09| nf
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120 x 142 — ( 017 x 017 x 314 x 025 )x 1.50 =] 2.52]
O BRLE#RL)

120 x 108 — ( 017 x 017 x 314 x 025)x 150 = | 1.91] ni
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O FRB®BET(t=19cm - BAELARE) = | 1.80] ni
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219.00 x 0.05 = | 10.95] nf
O HMIEH
060 x 127 — ( 012 x 012 x 3.14 x 025 )x  365.00 [=] 27400 n
O BELGFEL)
0.60 x 0.93 x 365.00 [=]  20367] nf
O HEsH(FEETL)
27400 — (20367 + 09 ) =] 4770
O FREEET(t=19cm - FETARE) =] 219.00] ni
O LEEET (t=15cm - FAHARE) =] 219.00] ni
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900 x 2 =] 18.00[ m
O EHEERRIER:(t=5cm)
0.60 x  9.00 = | 5.40 nf
O #HM45(As)
540 x 0.05 =] 0.27] i
O HHIEY
060 x 132 — ( 017 x 017 x 314 x 025 )x  9.00 = | 6.92| ni
O #BREL(EL)
0.60 x 0.98 x 9.00 =] 5.29] i
O H:H(FEL)
692 — ( 529 + 09 ) = | 1.04| ni
O FBHET (t=19cm - BAEYSARE) = | 5.40] ni
O LEEHT (=15cm - BAENBRA) = | 5.40] ni
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GU>7 @75 2] O
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TUAREKET
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NRECAAEREL =) ol w




& E T g =
HAKHREL
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DIPFRE RIS
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$75 471 m
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EHHRY— L
@75+ ¢100 - ¢ 150 3792 m
U/ L THRET ]
DIPA ¢ 150 &
EEEMRFERNL
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VP ¢ 75 ol O
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Bk EMRIEETR

T F&E F{ AFVVAEL A7/VAEL | FCD FCD
L BE(F) HHE = " 278 =% 2E | Bx Ty | FEE | FEE | mEes | B | SR | e
MR
125 N ZENE 157 |45 m| BE 300H [ 450H | 100%75 [100%100|150*150|150-100(150-100| 100*75 [75*150L|75*400L|75*200H| [ |75*200H| H0OI
GX
75 1 1 1
GX
100 77 18 95 3 1 1 2 11 1 1 1 1 2 4 4 3 3 1 1
GX
150 2 2 2 2 1 1 1 1
BAE | BEXRE | V7F | Y7k Y EE e N TRETK | REK | REK
Ml & = H5 | 45 AUIAE| ZEE wp o _ ﬁj‘imﬁ ﬁjtimﬁ 2EE ForT-7 | T|RV-H A7 |l gTe | g7 ~
SA4F|GU>s|PYUYY . VPR PR | EE1% | FCDIR
@ |5007690(500%690| M | i | A |L=lm/x| REE vPE | DIPE &) | (m) VPR |1 00%100
GX
75 1 1 1 2 2 1
GX
100 3 1 5 7 12 12 23 30 24 2 1 2
GX
150 1 2 2 9 10 B 26.0 [379.2 1
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HIv 4y b ¢ 50mm 1
HIVPEE ¢ 50mm Vi
HIVPZ LR @ 50mm &
HIEBANIL T Y 4y b @ 50mm &
R—ILN L7 @ 50mm 1@l
FREWNTILAR @ 65mm < ¢ 50mm &
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INILT Ry 7R PCV&L ¢ 200mm &




e x & 4 K& A B
DP=0.9m & ¥ ¥ £ 3.300 m
DP=1.2m i ¥4 & £ m
"/,
GXfE @ 75mm EhHBEE 2.810 m
# # T DP MREER e E R
E & 0.9 4.000 0 0.000
FENE
LLYE 0.9 1.500 1 1.500
0.9 1.000 1 1.000
zoE
FCD#iR G ¢ 75 0.9 0.190 1 0.190
FCOZZTFE (x#thlid ¢ 100TEHE) $ 100 x 75(5315%3) 1.2 0.120 1 0.120
V7 Y- tR KEEIEROHEE P T5 0.9 0.490 1 0.490
HEIFE - A H=510~690mm - 1
BEAEHM RILE ¢ 15 - 2
7 SA4F¢75 0.9 0.029 0 0.000
7 GU>¥2 ¢T5 - 2
/I EREEMF ¢ 75(CVE) - 1




KB M OB A B

DP=0.9m & 4 & & 373.810 m

DP=1.2m & T E 1.300 m

GX7 ¢ 100mm Bz E 370.780 m

7 o I - DP HE

B & 0.9 77 308.000

0.9 1 1.200

0.9 5 5.000

0.9 1 1.020

0.9 1 1.500

0.9 1 1.250

4 0.9 1 3.700

0.9 1 1.270

0.9 1 3.090

0.9 1 1.550

0.9 1 1.930

0.9 1 3.670

et 0.9 1 2.280

it 0.9 1 2.290

At 0.9 1 1.500

it 0.9 1 3.450

zuE At 0.9 2 2.500

it 0.9 1 2.690

At 0.9 1 3.570

it 0.9 1 3.520

GXJZ ¢ 100 45° W3 1.2 1 0.160

FCDhE GXJ% ¢ 100 45° 0.9 3 1.260

GXJZ ¢ 100 45° W= 0.9 0.000

FCD#k#h G ¢ 100 0.9 2 0.400

FCOm=HE G ¢ 100 0.9 1 0.020

FCDZF& $ 100 % H300 0.9 11 8.030

FCDZF& $ 100 x H450 1.2 1 0.730

FCDZF& $ 100 x H450 0.9 0.000

FCD=Z T 3% $100x100 0.9 1 0.540

FCOZZTFE (xitklid ¢ 100TFHE) $ 100 x 75(515%>) 0.9 1 0.440

FCDZimA%&E $150-100 1.2 1 0.410

FCDEZREE $150-100 0.9 2 0.820

FCD7 5 v oT%% GXJ¥ ¢ 100x 75 0.9 4 1.760
FCD7 5 » o8 $75x150L (DP0.9f) - 4
2T v L 2REEER ¢ 75x200L(bn" -) - 3
2TV L ZEMTRE e B0 - 3
FCD#EH $75x200L(b1 -) - 1
FCD# T E A ig L m| - 1
VY vavy - - SRE(SREROR L HARR) # 500 x 690H - 3
VY vavp - - SKE(BRE R HKH) # 500 x 690H - 1

V7 Y= AT KIRRIER DAL M ¢ 100 0.9 5 0.900

V7Y=L AT XIBRIER DAL & ¢ 100 0.9 7 3.430
EUFHE - Es H=510~690mm - 12
BEAEM EFE ¢ 100 - 23

P 54+ ¢100 0.9 30 0.870
” GY % ¢100 - 24

P P> $100 0.9 2 0.360
Eieig VPA ¢ 100mn 1
P DIPF3 ¢ 100mm 2




e x & M ¥ #A 2
DP=0.9m #E ¥l & £ 6.250 m
DP=1.2m #& H & £ 2.260 m
GX#Z ¢ 150mm BhHBEE 8.330 m
P ® = DP | MEEE | BE E B
B & 0.9 4.000 0 0.000
B 0.9 0.000
0.9 0.000
hLID) 0.9 1.200 1 1.200
M 0.9 1.000 1 1.000
FCDZIE 0.9 1.000 1 1.000
1.2 1.000 2 2.000
0.000
FCDE GX¥ ¢ 150 45° 0.9 0.470 2 0.940
GXF2 ¢ 150 45° W= 0.9 0.200 2 0.400
FCOm=iEE GX#2 ¢ 150 0.9 0.000
FCDZ =& GXF ¢ 150 H=300 0.9 0.820 1 0.820
GX¥ ¢ 150 H=450 0.9 0.000
FCD#t % GX#Z ¢ 150 1.2 0.240 1 0.240
FCOm=ZHEE GXJ ¢ 150 1.2 0.020 1 0.020
FCD—2 T2 GXF2 ¢ 150 % 150 0.9 0.710 1 0.710
GX# ¢ 150 x 100 0.9 0.000
FCOZERHE GX#2 ¢ 150 %100 0.9 0.000
V7 Y= AEYF XIEHIEER O AT E M ¢ 150 0.9 0.180 1 0.180
VT RS —AEOR KREEROAI L |BE 150 0.9 0.000
HYIRE - EH H=510~690mm - 2
] BIVE ¢ 150 - 9
Vi 747+ ¢150 0.9 0.000
7 GY>¥7 ¢150 10
REFA IV 7R DIPA ¢ 150 1.2 1




9 &
GXFZ ¢ 75mm L=4.0m/7&
FOE z9E Z9E ZYIE () % OB Pl
1 1.000 1.500 1.50 2
2
B 2
GX#Z ¢ 100mm L=4.0m/A&
FE Z9E Z9E ZE () % B
1 1.200 2.280 0.520 1
2 1.000 2.290 0.710 2
3 1.000 1.500 1.500 2
4 1.000 1.250 1.750 2
5 1.000 1.250 1.750 2
6 1.000 2.690 0.310 2
7 1.020 2.980 2
8 1.500 2.500 1
9 1.250 2.750 1
10 3.700 0.300 1
11 3.670 0.330 1
12 1.270 2.730 1
13 3.090 0.910 1
14 1.550 2.450 1
15 1.930 2.070 1
16 3.450 0.550 1
17 3.570 0.430 1
18 3.520 1
B 24
GXF& ¢150mm L=5.0m/4&
FEE zZE zE ZE (D) % OB
1 1.000 1.000 1.200 1.800 3
2 1.000 1.000 3.000 2
6 4.000 5




B — FPEHEK

= Z[  GX¢75mm GX ¢ 100mm GX ¢ 150mm B
EhHRIELEERE 2.810 370.780 8.330

H oA E K 0 4 0

(BERIER) 0.664 0.664 0.664
Mo R 2.810 368.124 8.330 379.264
% 3 & 2.8 368.1 8.3 379.2
BERTT—7EHE
= %= ¢ 75mm ¢ 100mm $ 150mm B
[E] = 0 77
) = 1 17 2
Mo R 4.7 488.8 16.0 509.5
1K & 7= V) 4.7 5.2 8.0
% 3 & 0.235 24.440 0.800 26

%/ 20 m
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VP ¢ 75 2.3| m
R ETFRA L
VP ¢ 100 100.0[
EE W T
A 4t L=25kmLL T ]
MEELIE 4.7 m
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HWEE D ETRATL DIP ¢ 150 9.0 m
i E I T DIP ¢ 100 6| H
EE Ok L DIP ¢ 150 2| B
R R 4t L=25kmLL F ]
WMEEL AT 0.3] t
O BRI ILERE
1640 + 1140 + 65.0 =| 3430 m
O BHERE
22.0 = 220 m
9.0 = 9.0
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I & R M= HREHHE | B
YT T
As t=bcm 346.60 350 m
SRR T ;
As t=10cmilF  0.20BH 103.98 104]
o 5
As DT:4t 0.20BH L=4.6km 5.20 5.0| ni
Iz =L
: HRIEE] 0.2BH 83.38 8|
Iz =L
. ASIES] 0.3BH 19.35 19|
WE L (B E+
=L ! Vsl o.28n 27.03 27| i
MR L (Rt
=L ! Vsl o.28n 26.00 26| ni
MR L (Rt
=L ) D 19.35 19 i
P L AL4 (562 +) 3
DT:4t L=6.5km 59.49 59|
TRERET -
RC-40 t=19cm 103.98 104]
FEBET 2
RM-40 t=15cm 103.98 104]
£ B T . 2
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EEE] IRE ==K v =
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AL AR AR AL As [t=10cmLLTF
Rl | 103.98 103.98
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m 5.20 5.20
T u +# |44 0.20BH
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=L ) e T | 26.00 26.00
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- ar: m 19.35]  19.35
A4S (FEEL) | 8 |DT-4t L=6.5km
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KELTEHES

TTHEEO 600
faKE TEHIZER
HIVP ¢ 20~50mm 2 i 2 .
(#38) ‘ T BEBHEAs -
I
! RM40-0 2
|
!
| 8
i RC40-0 2
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